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Q3 Conjugate root: Given 1—i is aroot (solution), .: 1+ is also Q8b ﬂ: i I—xdx, y+y—=—x—+c
aroot. Let b be the third root. dx 1+y 3 2
_ __ 3 2
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The other 2 solutions are 2 and 1+ .

Q9a F=ma”=2x437_187_(3“27)=2(47—27)=87—47

Alternatively, let (z -1+ i)(z -1- i)(z - b) =7 +az’ +6z+a 10
Compare the coefficient of z* term and the constant term to find |;; .82+ (_ 4)2 —4 \/g newtons
b=2.

Q4 Normal distribution of the population: ¢ =298 and ¢ =3

- Q9 G =47 - j —27)dr+37 +2F = (4 +3)7 - (2r-2)F

.- normal distribution of X : 0
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E(X)=x=298 and sd(X)=—==>=15 I - 2. N .

(¥)=x and sd(§) Jno 2 f((4t+3)z—2(—1)j)dt={@i—(z—1)zj} =2307 —807]
Pr(X <295)=Pr(X < (298 -2x1.5))= 0.025 0 0
Q5 CB=b-c=-i+k,CD=d-¢=(a-2) -j-k Q10a i[xcos"[ﬁjj:cos'l(ﬁ]—; by the product rule

dx a a at—x2

@.@:‘&“C—D‘cos?: a-2)-1=+24(a- +1+1><—

42t Q10b cos{%jzo,—2st2,maximaldomainis[—Z, 2],andthe
: 1—a=,/%,.: 1—a>0 and ¢’ —4a+6>0, . a<l

range is [0, \/;]
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Solve 1—a = @ —4at6 by squaring both sides, .: a> =4.
2 Q10c V = jfcy dx = ;rjcos ( ]dx
Since a<1,.:a=-2 )
. d o x X
Q6 f()c)=(sin71 x)l, f'(x)z—; by the chain rule :”J. d_XCOS 1(5j+ﬁ dx  byparta
VI-x* sin” x 2\ 2 —x
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sl-x*>0and sin'x#0 T d 1 o x )

=x|— = |dx+ ———dx = = =2
. —l<x<l1 and x#0, .: the largest set of values of x for which ﬂidxxcos * ”J. /22 ) S 2 ., 7
f(x) is defined is {x:—1< x<1, xe R}\{0}.

x X . .
R i , ., ., Note: I ————dx =0 because —— is an odd function.
Q7 x=cos’t, x =—3cos tsint: y=sint, y=3sin"tcost 5 A22 —x* 22 _x?
2 ()P +() =9sin’rcos? t(cos2 t+sin’ t)= 9sin’ ¢ cos’ t
3 Please inform mathline @ itute.com re conceptual
()c')2 + (y')2 =3sintcost = E sin 2¢ and/or mathematical errors.
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